Algebra 1

Assignment

Draw a graph for each inequality.

1) m<1.6

T4 3 2 10 2 3 4

3) r>1.1

T4 2 10 2 3 4

5) n>-0.9

———+—+— ——t>
-4 -3 -2 -1 0 2 3 4

7) x>1.6

T4 2 a0 2 3 47

9) p<1.7

I 2 3 47

11) p<-1.61

T3 2 10 2 3 4

13) b>-1.3

T3 a2 10 2 3 47

15) m<2.3

T3 2 a0 2 3 47

17) k<0.3

T4 2 a0 2 3 47

19) x<1.2

I 2 3 47

ID: 1

Name
Date

2) p>-0.07
Sa3 2 a0 2 3 4
4) m<-0.29
S4o3 2 10 2 3 o4
6) n<-2.7
A —+—+— ——t>

-4 -3 -2 -1 0 2 3 4
8) x>-2.2
T3 2 a0 2 3 47
10) x>-0.7
T4 2 a0 2 3 47
12) x>-0.3
S43 2 a0 2 3 4
14) x>1.3
T4 3 2 10 2 3 47
16) r<0.5

T3 2 a0 2 3 4
18) n<0.1
NI I S A
20) x<-1.3
T4 2 a0 2 3 47

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) m<1.6

5) n>-0.9
( T T T : : ’
4 3 2 -1 0 1 2 3 4
7) x>1.6
< =P

9) p<1.7
€= } >
-4 -3 -2 -1 0 1 2 3 4
11) p<-1.61
e —————————+—+—>
4 3 =2 -1 0 1 2 3 4
13) b>-1.3
& i — >
-4 -3 =2 -1 0 1 2 3 4
15) m<2.3
= } >
-4 -3 =2 -1 0 1 2 3 4
17) k<0.3
C———————————>
-4 -3 =2 -1 0 1 2 3 4
19) x<1.2
€ L >

ID: 1

Name
Date
2) p>-0.07
< : ———
-4 3 -2 -1 0 2 3 4
4) m<-0.29
. 4 —
-4 -3 -2 -1 0 2 3 4
6) n<-2.7
o —t>
4 3 2 -1 0 2 3 4
8) x>-2.2
A o
-4 -3 -2 -1 0 2 3 4
10) x>-0.7
& } R o —
-4 -3 -2 -1 0 2 3 4
12) x>-0.3
—F—————+—Oi ———
-4 -3 =2 -1 0 2 3 4
14) x>1.3
< —t ————
4 3 =2 -1 0 2 3 4
16) r<0.5
. frm —
-4 -3 =2 -1 0 2 3 4
18) n<0.1
D e . — >
-4 -3 =2 -1 0 2 3 4
20) x<-1.3
= —t —>
-4 -3 -2 -1 0 2 3 4

Period



Algebra 1 Name

ID: 2

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) b>-2.1
S —:3 -2
3) a<l1.8
N —:3 -2
5 p>-13
S —:3 -2
7) x>1.3
N —:3 -2
9) x>-1
N —:3 -2
11) v<0.7
S j3 -2
13) a<2.5
A
15) b<2.35
N js -2
17) x>-2.2
A j3 -2
19) n>-0.85
AR

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

2) n<2
<—4 —:3 -2
4) n<2
<—4 —:3 -2
6) v>2.1
/R
8) v>0.9
/R
10) v<-2.23
<—4 —:3 -2
12) n>-0.5
<74 j3 -2
14) r>-1.39
S
16) m<1.2
<74 j3 -2
18) p>-1.8
<74 j3 -2
20) n>—0.723

A\ 4

A\ 4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

1) b>-2.1
< —@
4 3 =2
3) a<l1.8
.
4 3 2
5 p=>-13
S —:3 -2
7) x>1.3
N —:3 -2
9) x>-1
\—:4 3 =2
11) v< 0.7
L
4 3 2
13) a<2.5
s
4 3 2
15) b<2.35
.
4 3 2
17) x>-2.2
NIV
19) n>-0.85

4 3 22

ID: 2

Name
Date
2) n<2
e —0 >
-4 3 -2 - 1 2
4) n<2
. : >
-4 3 -2 - 1 2
6) v>2.1
—F—t+—+— — =)
-4 -3 -2 -1 1 2
8) v>0.9
—~F——— e =
-4 -3 -2 -1 1 2
10) v<-2.23
e —t >
-4 3 2 - 12
12) n>-0.5
< : — =)
4 -3 -2 -1 1 2
14) r>-1.39
A o} =)
-4 3 2 -1 1 2
16) m<1.2
G P — >
-4 -3 -2 -1 1 2
18) p>-1.8
< —i® — =)
-4 -3 -2 -1 1 2
20) n>-0.723
< : o =)
-4 -3 -2 -1 1 2

Period



Algebra 1 Name

ID: 3

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) x<1.32
A
3) n<-2.2
<—4 —:3 -2
5 x<1.7
<—4 —:3 -2
7) a>1.6
<—4 —:3 -2
9) a<1.32
/-
11) v>-1.8
<—4 —:3 -2
13) p<0.1
<—4 —:3 -2
15) x> 0.1
AN/
17) a<-2.6
<—4 —:3 -2
19) v<-0.6

A\ 4

4 3 22

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

2) r>-1.9
S —:3 )
4) n>-0.9

S —:3 2 -l
6) x> 1.8

N —:3 2 -l
8) x> 1.6

N —:3 2 -l
10) x<0.9

A N
12) n<-0.301
S —:3 2 -l
14) n>-2.9
/N R A
16) n<-2.1

/N R A
18) v>-2.3

S —:3 -2 -l
20) m>—1.7
/A R

A\ 4

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) x<1.32

‘—:4 —:3 -2 -l (:) i’

3) n<-2.2

‘—:4 3 2 - (:) ’

5) x<1.7

‘—:4 —:3 -2 -l (:) i’

7) a>1.6

< : : >
4 3 =2 -1 0

9) a<1.32

o= >

11) v>-1.8

< — | =)
4 3 -2 -1 0

13) p<0.1

‘—:4 —:3 2 -1 0 i’

15) x> 0.1

—F—t—+—+—0 =
4 3 -2 -1 0

17) a<-2.6

‘—:4 —:3.—2 -1 (:) ’

19) v<-0.6

B/ —— >

Name

ID: 3

Date

10) x<0.9
L A T A >
-4 -3 -2 -1 0 1
12) n<-0.301
€= - >

14) n>-2.9

&—1 2 2 "
ST T T T
-4 3 -2 -l 0

16) n<-2.1
e — —— >
-4 3 -2 -1 0 1
18) v>-2.3
3 @+ =

4 3 2 -1 0

20) m>-1.7

&—1 1 1 " "
S T T ¥ ¥
4 3 2 -1 0

Period



Algebra 1 Name

ID: 4

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) v<2.9 2) n<-0.5

<—4 3 =2 -1 0 1 2 3 4> <—4 3 =2 -1 0
3) x>-1.7 4) n<0.5

<—4 3 =2 -1 0 1 2 3 4> <—4 3 =2 -1 0
5 v>2.1 6) v<2.8

<—4 3 =2 -1 0 1 2 3 4> <—4 3 =2 -1 0
7) n>0.3 8) b<-2.8

<—4 3 =2 -1 0 1 2 3 4> <—4 3 =2 -1 0
9) n<0.2 10) x>-2

<—4 3 =2 -1 0 1 2 3 4> <—4 3 =2 -1 0
11) n>-1.2 12) a>-2.6

<74 3 =2 -1 0 1 2 3 4> <74 3 =2 -1 0
13) x>2.8 14) n>1.8
/I S A A VR
15) n>-0.5 16) p>-2.23

<74 3 =2 -1 0 1 2 3 4> <74 3 =2 -1 0
17) p>-14 18) x<0.3

<74 3 =2 -1 0 1 2 3 4> <74 3 =2 -1 0
19) k<-1.2 20) x>-3

A\ 4

A\ 4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) v<2.9
. d + —>
-4 -3 -2 -1 2 3 4
3) x>-1.7
L @i .
-4 -3 -2 -1 2 3 4
5) v>2.1
< : : e
-4 -3 -2 -1 2 3 4
7) n>0.3
< : : ———
-4 -3 -2 -l 2 3 4
9) n<0.2
L . ; —>
-4 -3 -2 -l 2 3 4
11) n>-1.2
< : L —————
-4 3 2 -1 2 3 4
13) x>2.8
—~F———1 —C ey
-4 3 2 -1 2 3 4
15) n>-0.5
< : : —————
-4 3 2 -1 2 3 4
17) p>-14
< : : —————
-4 3 2 -1 2 3 4
19) k<-1.2
e ——— — >
-4 -3 -2 -1 2 3 4

ID: 4

Name
Date
2) n<-0.5
€= =0 : >
-4 -3 -2 -1 0 2
4) n<0.5
. i : >
-4 -3 -2 -1 0 2
6) v<2.8
€= : / >
-4 -3 -2 -1 0 2
8) b<-28
S 4 t >
-4 -3 -2 -1 0 2
10) x>-2
< — : : >
-4 -3 -2 -1 0 2
12) a>-2.6
——0= } } =
4 3 2 -1 0 2
14) n>1.8
———— 4 © =9
4 3 2 -1 0 2
16) p>-2.23
< : | =)
-4 -3 -2 -1 0 2
18) x<0.3
€= HO—— >
4 3 2 -1 0 2
20) x>-3
< ® d b =)
-4 3 -2 -1 0 2

Period



Algebra 1 Name

ID: 5

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) r<1.3
S
3) n<2.5
S
5) b<2.3
<—4 —:3 -2
7) n<1.7
S
9) x<0.7
<74 j3 -2
11) p<-1.4
<74 j3 -2
13) r>-2.6
<74 j3 -2
15) x>-1.5
<74 j3 -2
17) p<-0.2
<74 j3 -2
19) x<2.9

A\ 4

A\ 4

\4

\4

\4

\4

\4

\4

\4

\4

\4

2) x>0.6
S —:3 -2
4) n>-1.3
\_I4 _:3 _:2
6) n>0.1
S —:3 -2
8) b<2

S 3
10) r<2.5
AR
12) n<-1.3
N js -2
14) n<-1.8
N js -2
16) x< 1.6
AR
18) n>0.3
A 7:3 -2
20) v< 1.1
A 7:3 -2

\4

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) r<13

o ?
3) n<2.5

o ?
5) b<23

o ?
7) n<1.7

o= >
9) x<0.7

\AIRIm I ,
11) p<-14

o ?
13) r>-2.6

< — ->

-4 -3 -2 -1 0
15) x>-1.5
O =
4 3 2 -1 0

17) p<-0.2

‘4:1 3 2 -1 0 ’
19) x<2.9

‘4:1 3 2 -1 0 ’

Name

Date

2) x> 0.6

4) n>-1.3
et =
-4 3 2 -1 0
6) n>0.1
¢ t - =
-4 3 2 -1 0
8) b<2
e o —_—_— >
-4 3 2 -1 0
10) r<2.5
e o — —_— -
4 3 2 -1 0
12) n<-1.3
<7:4 j3 ) .71 (:) ’
14) n<-1.8
o >
16) x< 1.6
<7:4 3 2 -1 (:) ’
18) n>0.3
< : @i =)
4 3 2 -1 0
20) v< 1.1
e } >
4 3 2 -1 0

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) n<0.581

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

13) v<2.1

A\ 4

&—1 1 1
S T T
4 3 2

15) m< 1.6

A\ 4

A\ 4

19) n>-0.8

A\ 4

&—1
< T T
4 3 2

A\ 4

ID: 6

Name
Date

2) n>0.7
S —:3 -2 -1 <:) i’
4) n>-0.3
S —:3 -2 -1 (:) i’
6) v>-2.4
A —:3 -2 -1 (:) i’
8) v>2.8
A —:3 -2 -1 (:) i’
10) x<2.3
A —:3 -2 -1 (:) i’
12) x<-1.2
A js -2 -1 (:) i’
14) v>-1.7
R >
16) p>2.6
N j3 -2 -1 (:) i’
18) x<0.2
A j3 -2 -1 (:) i’
20) m<2.3
TE L ?

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) n<0.581
e | >
-4 3 2 -1 0
3) x<-1.5
€= } >
4 3 2 -1 0
5 p<0.5
e | >
-4 3 2 -1 0
7) a>-0.3
< : ! =
4 3 2 -1 0
9) x<-0.5
€= H >
-4 3 2 -1 0
11) r<-2.2
€= Ck t >
4 3 2 -1 0
13) v<2.1
e } >
4 3 =2 -1 0
15) m< 1.6
= } >
4 3 2 -1 0
17) r<0.7
G | >
4 3 2 -1 0
19) n>-0.8
i =
-4 -3 -2 -l 0

Name

ID: 6

Date

10) x<2.3

e >
-4 3 2 -

12) x<-1.2

€= O >

14) v>-1.7

A
4 3 2 -1

16) p>2.6

20) m<2.3

A\ 4

€=

-4 3 2 -1

A\ 4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) x>04
AR
3) x>-1.6
S 3 o
5) x>2.2
N —:3 -2
7) x>2.7
\_I4 _:3 _:2
9) v>04
S 4 3 o
11) b>-2.27
S —:3 -2
13) r>1.4
AR
15) a> 1.7
AR
17) x< 1.3
N —:3 -2
19) x<-0.9
AR

A\ 4

Name

ID: 7

2) n>-2.4

Date

N

4 3 22

4) v<29

A\ 4

N

4 3 2

6) r<1.22

A\ 4

A\ 4

10) x<-2.2

A\ 4

&—1
< T T
-4 3 2

12) a<-0.9

A\ 4

14) m>-0.2

A\ 4

&—1 1 1
S T T
4 3 =2

16) a<0.8

A\ 4

&—1
<1 T T
4 3 2

18) n>1.7

A\ 4

20) n>2.1

A\ 4

&—1 1 1
S T T
4 3 2

A\ 4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

A\ 4

1) x>04
N —:3 -2
3) x>-1.6
V)
5) x>2.2
N —:3 -2
7) x>2.7
\_I4 _:3 _:2
9) v>04
S 4 3 o
11) b>-2.27

St

-4 3 =2
13) r>1.4
AR
15) a> 1.7
AR
17) x< 1.3
.

4 3 =2
19) x<-0.9
e

-4 3 2

A\ 4

ID: 7

Name
Date
2) n>-2.4
< : ———
-4 -3 -2 -1 0 2 3
4) v<29
= b —0 >
-4 -3 -2 -1 0 2 3
6) r<1.22
. . : — >
-4 -3 2 -1 0 2 3
8) n<-2.6
L ® : —i >
-4 -3 -2 -1 0 2 3
10) x<-2.2
L O : —it >
-4 -3 2 -l 0 2 3
12) a<-0.9
L o—i —i >
-4 -3 -2 -1 0 2 3
14) m>-0.2
———+—+—C ———
-4 3 2 -1 0 2 3
16) a<0.8
e ¥ —t >
-4 3 2 -1 0 2 3
18) n>1.7
< : : ———
-4 3 2 -1 0 2 3
20) n>2.1
——+— t Qi)
-4 -3 -2 -1 0 2 3

Period



Algebra 1

Assignment

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) x<0.7
N —:3 -2
3) x<1.2
N —:3 -2
5 x>-0.3
N —:3 -2
7) r<-1.8
N —:3 -2
9) a<2.8
N —:3 -2
11) x< 1.1
S j3 -2
13) n<-1.5
S j3 -2
15) b>1
N js -2
17) r<-2.8
N j3 -2
19) r<-24
AR

A\ 4

ID: 8

Date

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

Name
2) x>0.7
/R
4) a>-0.561
<—4 —:3 -2
6) n>-2
B/
8) k<1.8
/R
10) x>-1.4
<—4 —:3 -2
12) x>2.31
<74 j3 -2
14) n<-0.8
<74 j3 -2
16) a>0.7
<74 j3 -2
18) n<2.6
<74 j3 -2
20) b>3

A\ 4

A\ 4

Period



Algebra 1

Assignment

Draw a graph for each inequality.

1) x<0.7
L o — : >
-4 3 2 -1 1
3) x<1.2
. O >
-4 3 -2 -1 1
5) x>-0.3
< : : =)
-4 -3 -2 -1 1
7) r<-1.8
D t >
-4 3 2 - 1
9) a<2.8
. d CO—+>
-4 3 2 -1 1
11) x< 1.1
L >
-4 3 -2 -1 1
13) n<-1.5
. : >
-4 3 2 -1 1
15) b>1
< : >
-4 3 2 -1 1
17) r<-2.8
C—i—— : >
-4 3 2 -1 1
19) r<-24
\ >

4 3 2 -1

ID: 8

Name
Date
2) x>0.7
< : : =g
-4 -3 -2 -1 0 2
4) a>-0.561
< : : =)
-4 -3 -2 -1 0 2
6) n>-2
< ® : : =)
-4 -3 -2 -1 0 2
8) k<1.8
D ——— i Ch >
-4 -3 -2 -1 0 2
10) x>-1.4
< : : : =)
-4 -3 -2 -1 0 2
12) x>2.31
—~—— } X e
4 3 2 -1 0 2
14) n<-0.8
G — : >
4 3 2 -1 0 2
16) a>0.7
< : : : =)
4 3 2 -1 0 2
18) n<2.6
L } —+—t—>
-4 -3 -2 -1 0 2
20) b>3
< : : : =)
-4 -3 -2 -1 0 2

Period



Algebra 1 Name

ID: 9

Assignment Date

Draw a graph for each inequality.

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

1) n>-2.6
S
3) n>1.224
G
5 a>-1.1
<—4 —:3 -2
7) p<£-29
S
9) n<0.3
G
11) x> 1
<—4 —:3 -2
13) r<12
G
15) k<22
G
17) p<-27
<—4 —:3 -2
19) n>-2.384

A\ 4

4 3 =2

-1

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

A\ 4

2) r>-0.6
S —:3 -2
4) n<0.13
S
6) b<-0.22
S —:3 -2
8) a=>2.5
\_I4 _:3 _:2
10) n< 1
S
12) x>0.1
N —:3 -2
14) x>-1.1
St
16) b<1.58
S
18) n> 1.1
N —:3 -2
20) m>2.6
/A

A\ 4

Period



Algebra 1
Assignment

Draw a graph for each inequality.

1) n>-2.6
- @l =)
-4 3 2 -l
3) n>1.224
A+ >
-4 3 2 -l
5 a>-1.1
4 t - =
-4 3 2 -1
7) p<£-29
e — >
-4 3 2 -l
9) n<0.3
L >
-4 3 2 -l
11) x>1
< : =
-4 3 2 -l
13) r<1.2
e e — >
-4 3 2 -1
15) k<-2.2
e @ —— >
-4 -3 -2 -1
17) p<-2.7
G @——— >
-4 3 2 -l
19) n>-2.384
& =

4 3 -2 -

ID: 9

A\ 4

A\ 4

A\ 4

A\ 4

Name
Date
2) r>-0.6
A —:3 -2 —:1 (:)
4) n<0.13
D ——_——————
4 3 -2 -1 0
6) b<-0.22
€= O
-4 3 2 -1 0
8) a=>2.5
S —:3 -2 —:1 (:)
10) n< 1
L ———.
4 3 -2 -1 0
12) x>0.1
AV R
14) x>-1.1
——+— : =)
-4 3 2 -1 0
16) b<1.58
L —————.
4 3 2 -1 0
18) n>1.1
S —:3 -2 —:1 (:)
20) m>2.6
S S o

Period



ID: 10
Algebra 1 Name

Assignment Date Period

Draw a graph for each inequality.

1) n<-14 2) n>-2.1
4 N\ 4 N
N 7 N 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
3) r>-0.8 4) x>0.6
4 N\ 4 N
N LI N 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
5 p<-1.5 6) n<-1.7
4 N\ 4 N
N 7 N 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
7) a>-24 8) n>2.78
4 AN &1l N
N L N T 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
9) v<-2.8 10) x<2
4 N &1l N
N 7 N T 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
11) x>2.71 12) p<1.2
4 N 4 N
N 7 N 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
13) x<-1.8 14) x>0.8
4 N &1l N
N 7 N T 7
-4 -3 2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
15) x<1.61 16) m>23
4 N\ 4 N
N 7 N 7
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
17) n<2.3 18) r>0.5
4 N &1 AN
N 7 N T L
-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4
19) x<0.3 20) x<1.9
&1l N 4 N
N T 7 N 7

-4 -3 -2 -1 0 1 2 3 4 -4 -3 -2 -1 0 1 2 3 4



Algebra 1
Assignment

Draw a graph for each inequality.

1) n<-14
. >
-4 3 2 -1
3) r>-0.8
4 t O =9
-4 3 2 -
5 p<-1.5
e — ® >
-4 3 2 -1
7) a>-2.4
A0 =
-4 3 2 -1
9) v<-2.8
i@ ——— >
-4 3 2 -
11) x>2.71
< : —>
-4 3 2 -1
13) x<-1.8
i) >
-4 3 -2 -1
15) x<1.61
L >
-4 3 2 -1
17) n<2.3
. >
-4 3 2 -l
19) x<0.3
< >

4 3 2 -1

1D: 10

Name
Date Period
2) n>-2.1
< : : =)
-4 -3 -2 -1 1 4
4) x>0.6
< : | =g
-4 -3 -2 -1 1 4
6) n<-1.7
€= o— t —>
-4 -3 -2 -1 1 4
8) n>2.78
< : : : =)
-4 3 2 -1 1 4
10) x<2
€= ; d —>
-4 -3 -2 -1 1 4
12) p<1.2
. : O >
-4 3 2 - 1 4
14) x>0.8
—~H—+—+—+ C >
-4 3 2 -1 1 4
16) m>2.3
& } } } =
-4 3 2 - 1 4
18) r>0.5
< : : : =)
-4 3 2 - 1 4
20) x<1.9
e } >
-4 3 2 -1 1 4



